

$$f(x,y) = 3x - 4y + 23$$

$$g(x,y) = x^2 + 2y^2 - 17 = 0$$

Jacobiano metode :

$$\frac{\partial f}{\partial x} = 3 \quad \frac{\partial g}{\partial x} = 2x$$

$$\frac{\partial f}{\partial y} = -4 \quad \frac{\partial g}{\partial y} = 4y$$

\Rightarrow

$$\frac{\partial f}{\partial x} + \frac{\partial g}{\partial y} - \frac{\partial f}{\partial y} - \frac{\partial g}{\partial x} = 0$$

$$12y + 6x = 0 \rightarrow x = -\frac{3}{2}y$$

$$x^2 + 2y^2 - 17 = 0$$

$$\frac{9}{4}y^2 + 2y^2 - 17 = 0 \quad / \cdot 4$$

$$9y^2 + 8y^2 - 17 \cdot 4 = 0$$

$$17y^2 - 17 \cdot 4 = 0$$

$$y^2 = 4$$

$$y_1 = 2 \quad | \quad y_2 = -2$$

$$x_1 = -3, \quad x_2 = 3$$

\Rightarrow SEMAK KANDIDATO

$$f(3, -2) = 9 + 8 + 23 = 40 \quad \text{MAX}$$

$$f(-3, 2) = -9 - 8 + 23 = 6 \quad \text{MIN}$$

Metoda Lagrangeových multiplikátorů:

$$\begin{aligned} \partial_x f + \lambda \partial_x g &= 0 \\ \partial_y f + \lambda \partial_y g &= 0 \\ g &= 0 \end{aligned}$$

$$\Rightarrow \begin{aligned} \text{I)} \quad & 3 + 2\lambda x = 0 \\ \text{II)} \quad & -4 + 4\lambda y = 0 \\ \text{III)} \quad & x^2 + 2y^2 - 17 = 0 \end{aligned}$$

$$1. \lambda \neq 0$$

$$\rightarrow x = -\frac{3}{2\lambda}$$

$$1. \lambda \neq 0 \xrightarrow{\text{I)}} x = -\frac{3}{2\lambda}$$

$$\xrightarrow{\text{II)}} y = +\frac{1}{\lambda}$$

dosadit do

III

$$\frac{9}{4\lambda^2} + \frac{2}{\lambda^2} - 17 = 0 \quad | \cdot 4\lambda^2$$

$$(9 + 8) = 17 \cdot 4\lambda^2$$

$$\Rightarrow \lambda^2 = \frac{1}{4}$$

$$\lambda_1 = \frac{1}{2}$$

$$\lambda_2 = -\frac{1}{2}$$

$$x_1 = -3$$

$$y_1 = 2$$

$$x_2 = 3$$

$$y_2 = -2$$

KANDIDATI

$$f(-3; 2) = 6$$

MIN

$$f(3; -2) = 40$$

MAX

Pozor musíme ještě diskutovat

$$2. \lambda = 0 \xrightarrow{\text{I)}} 3 \neq 0 \dots \text{NEVŘESÁ!}$$